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An RG-11 coaxial transmission line (Zo=75 Q, u = 2.49 x 10® m/s, o = 4.35 dB/100 ft) of

length 14 m is terminated with a load. Using a vector network analyzer (VNA), a load

reflection coefficient of I',=0.42/36° is measured. The transmission line is connected to a
generator with V,=24./0°V and Z,=80 (2 operating at 1 GHz. First, sketch the transmission
line circuit. Then, determine (a) the attenuation (Np/m), phase (rad/m), & propagation
constants, (b) SWR & load impedance, (c) input reflection coefficient & impedance, (d)
phasor input current & voltage, (e) phasor forward voltage wave amplitude, (f) phasor load
current & voltage, and (g) time-average power input and delivered to load.
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